Handouts/CSE686/code/

HTML Document Position Model
Purpose:


Illustrate how the HTML Document position model works.  
1. An element’s box is posititoned with the CSS commands position:absolute, and top:30, and left:50.
2. This takes the box out of the document flow, e.g., it lays on top of, or below, all the boxes in the document flow.  Unlike floating, however, the contents to the other boxes are not affected by the positioned element.  Therefore it may write over, or be obscured by, the content of those boxes in the flow.
3. Whether the effect is to write over or be obscured by, is determined by the z-index of all elements occupying the same territory.  You set the z-index with the CSS command z-index:2.  If box A has a larger z-index than box B, then A will lie on top of, and obscure, box B if they both occupy the same region of the flow.
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